mathskils kids

Find the abﬂ_tg value of each number of the following expressions. &
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What is the opposite of 39?

What is the opposite of 8?

What is the opposite of O?

What is the opposite of -1?

What is the opposite of -3007?

What is the opposite of 3, 2507

What is the opposite of -507?
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What'is the opposite of 39?
the opposite of 39 is -39

What iis the opposite of 8?
the opposite of 8 is -8

What is the opposite of O?
the opposite of O is O

‘What is the opposite of -1?
the opposite of -1is 1

What is the opposite of -3007?
the opposite of -300 is 300

What is the opposite of 3, 2507
the opposite of 3, 250 is -3, 250

What is the opposite of -507
the opposite of -50 is 50
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